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All questions carry equal marks
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Discuss the following:
i) Undistrubed soil
ii) Distrubed soil. [9+6]
Why earth slopes fail? Discuss.
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What is Taylor's stability number? Discuss its use.
A cutting of depth lﬂmmmnﬂemmlwhmhhucwlﬂkﬁfm y = 19 kN/m" and
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Write the assumptions of Rankine's theory.
A retaining wall of height 5 m retains a sand fill, whose angle of internal friction, $=30"
and unit weight, =118 kN/m’. Enmth:mmﬂ\mmfmﬂ:mdmmm
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cantilever retaining wall.
Discuss how factor of safety against sliding is estimated for a gravity retaining wall.
[8+7]
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factor of safety of 3. [15]

A bored concrete pile 30 cm diameter and 6 Iuwhpusuﬂummﬂ'
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